Assessment Scheme
For Physics 10" Part II Session 2012-14 & ONWARD

Time: 03:00 hrs

Total Marks:- 75

M.C.0s Short Answer Questions Essay Type Questions Questions wa_ﬁim to
Practicals
Allotted Marks 12 Allotted Marks 32 Allotted Marks 21 Allotted Marks 10
Sr. ) Distribution Q. to be asked 12 Q. to be asked 25 Q. to be asked 5 Q. to be asked 3
No Chapters Weightage of Marks Q. to be attempted 12 Q. to be attempted 16 Q. to be attempted 3 Q. to be attempted 2
Time 15 Minutes Time 2 Hours & 45 Minutes
Total Total Total
K 4 X Marks A § 4 Marks ol G i Marks

Simple
10 | Jarmome 8 % 8 1 A U R T O IR I O A R R

Waves
11 | Sound 10 % 10 - 1 - 1 1 2 - 6 - - ' 3
12 %meaao& 15 % 14 . R 1 1l 1| 6 | % |%]| - 7
13 | Electrostatics 13 % 13 1 - 1 2 g 2 - 8 - - i 3

Current i 1 Question No. 10
b Electricity % 13 . i ) . ) S \ 1 & i i % =15marks
15 | Electromagnetism 10 % 9 - 1 - 1 1 1 - 4 ' = = 4

Basic o 1
16 Electronics 9% 8 - 1 - 1 1 - 1 4 - - 53 3

Information and
17 | Communication | 11 % 11 1 - 1 2 1 1 1 6 - - | A 3

Technology

Atomic and 8 1
18 Hiislsar Phsios 9% 9 1 - - 1 1 1 - 4 I - - 4
Note: The chapter wise distribution of numerical is arbitrary. There may be interchange of chapter for numerical and extensive response part in
each essay type question.

Total [ 100% | 97+15 | 12 | 50 | 35 15

Important Note:- 1) K= Knowledge.

U= Understanding / Comprehension

A= Application & Analysis

2) This scheme of Assessment is prepared as per 33% choice in short answer questions, essay questions & questions relating to practicals.
3) In order to promote the cause of concept based learning at least 10 % questions must be unseen or of daily life but relating to specified learning outcomes of Curricula & Syllabi. This

portion will increase @ 10% annually but not more than 30%.
4) The questions relating to practical will be asked from the practical Note Book as per chapter were detail given in the curriculum and syllabi 2006.

5) The Practical will be conducted at the end of 10™ Class which is mandatory to qualify for award of certificate.
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The Practical assessment will be made in the form of grading as per following criteria.
; \b A+=90% & above, A=80% to 89%, B=70% to 79%, C= 60% to 69%, D= 50% to 59%, E= 40% to 49%, F= Fail = Below 40%
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Note: This is Model Paper for guidance of students & teachers.

that circle in front of that question number.

(D)L Sk

1248
BN 3 F L g e SO es Ll 38312t L e D AIC, B, A 2zl vy i)

will result in zero mark in that question.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill

Use marker or pen to fill the circles. Cutting or filling two or more circles

(D) (C) (B) (A) QUESTIONS Q.1
. e Alun L s ety ce QIS nZ ST Al | ()
Inertia Force of gravity | Tension in the | Air resistance |In S.H.M of simple pendulum restoring force
string is provided by
St/ Steabes | S¥tate | Sty | -ced e Feda A nsdpduny | G
Frequency and Distance and Time period Speed and |Wavelength A of waves can also be
speed speed andfrequency frequency |defined as ratio of
- {;_(dB) 1040g _]I_ I -jlo—(dB) 10208 o e YUkt dB UL S50 | (il
¢ Sound level'in dB is given by
f 2 L L e b Bk ST S 8T | )
2 & The distance between centre of curvature
and pole of spherical mirror is equal to
Luvey | Loy | Lyl | Dulebsn |7s i SHla e 94| )
wig S
Lose identity Gain potential Gain power Loseenergy |In electric circuit when electrons move from
low to high potential they
d 2 8 1 b pEUibaswl L A 21| (i)
Sned S0
If 4 Jouls of work is done on a 2 coulomb
4 Volt 2Volt 8 Volt 1 Volt charge against the direction of electric field,
the value of electric potential is
at Qc Qv QR e GG K | (i
Electrical energy is given by
$& i S8 Soie 2L pedeseldUipi? | wii
Voltage Power Energy Charge Transformer is used to change the value of
e S e e et P63t C RO (i)
Negative Neutral Zero Positive In C.R.O the potential of Grid is
1MB 1GB 1TB 1PB L siieE 1024 (x)
1024 kilobytes are equal to
J-1820 J-1620 Ju-1420 Ju1220 e BnISL S 2264 | ()
1820 Years 1620 Years 1420 Years 1220 Years |Half life of radium-226 is
A 17 AT A7 217 e Gl L5 UEDVD | (i)
17 Hectobyte 17 Megabyte 17 Gegabyte 17 Kilobyte | The storage power of DVD is



http://www.result.pk

2. Attempt any Five parts from the followings:-(5x2=10)

(i)
(iv)

(v)

(vi)

(vii)

(viii)

(i
(ii)

(vi)

(vii)

(viii)

(ix)

(ii)

(DL (ots2012- 146755 A esle (ZEDUFsdil
634F 2455,
Part I J:' -~

Distinguish between longitudinal and transverse waves -Q/c»L};JL«LJL“/u;)rJJ/'u,l,mdijg;wﬂl/‘ulgf}g?g’

Y fer Ll St b2

(i)
with a suitable example.
Why must the volume of a stereo in a room with L/L',J)Ldﬂw;u:(_/é%/{4,,1’&,31@,}4 (ii)
wall-to-wall carpet be tuned higher than in a room with a ?u;f.:‘.m;g)ai
wooden floor?
Define audible sound. Also descibe its frequency range. -U:/UL;.))»:JJ?‘J{/.JJUJlu:/rbé;‘/‘lgffV&'{‘Jﬁ' (iii)
If at Anarkali Bazar, the sound level is 80 dB, what will be ?anzu"g?w:jwmso dBURELs LB (iv)
the intensity level of sound there?
What is critical angle? Write the relationship between the Jgﬁl}? /’lwlﬁl ﬂ/& JX u/ el f/..l Jé-“/ (v)
critical angle and the refrective index of a material? _gf‘vc,bl/JJw Ul
Why is the driver's side mirror in many cars convex !mu::.(//g/gf Ll{-&/ﬁfﬂ/ﬂbdf&fuﬁw;/( ZaskJ (Vi)
rather than plane or concave? L=
An object 4 cm high is placed at a distance of 12 cm 12« 8 cm&'«ﬁf}&ﬁﬂwgf,c‘_4 cm&t{;ld/()pg (vii)
from a convex lens of focal length 8 cm. Calculate the -q/}:"”ﬁ/’gn}/ (‘-fl_‘gl‘/?g.iftéicm
position of the image.
How nature of charges are detected by using ?f.CJ?lgL@d::;Ko{)J ngLnL/JWI/..;F;}gl (viii)
electroscope?

3. Attempt any Six parts from the followings:- (6x2=12) -q};/’o&li.élzl"?,céiz—.ufdjbu -3
Write any two properties of electric field lines. _u.‘f"f:,yr"'ug( }?Uﬂ;‘\.f}?l 0]
A current of 3 mA is flowing through wire for 1 minute. ui/’l;u’l@/.lgl:?’/}"‘gbf.v‘/BmAuiw1c,/’l;.f}glvg/ﬁ (ii)
What is the charge flowing through wire? _(;ch

’ Vo 1 Vy 1 (i)
For an ideal transformer prove that 75 - Z ?/T " Z -q/_v.vii//u»u
How capacitor works in resonant circuit? ?‘gl:/rgd:uﬁ_‘//w)z/ k{ (iv)
How does the earth wire save us from electric shock el L"?J/’?ld: u.‘.ﬂ/’fm’ﬂiz_tgnq/’/’bf UJ ’/'"’lglﬂ/"gl_,a (v)
when the line wire of the electric appliances gets demaged? 9%&5;;,32
How short circuit happens due to decrease in resistance ‘."arnd“/d//bbajbﬁc.z;n(fﬁﬂjgf&? (vi)
of the circuit?
What is the working principle of A.C. generator? -Q/uy/‘??‘agdﬂIKL/(KLﬁ)ZA.C. (vii)
Why the resistance of conductor rises with increase in ?‘L(Elgw‘/.ux.( :/ifd/ ;ffJ J( e L ieil 7z (Vi)
temperature?
What is the relation between electric potential and ?‘Lg}w quﬁ&ﬂ(&}ld}%‘md}%bff"?l (ix)

potential energy?

How the direction of current is reversed in the armature of ?‘LJQ&TL/J(:’/J&/J}QIU.‘I{/TL}:”D.C.

D.C. motor?

Define analogue and digital electronics. -q/_g/&f%uﬁ:?wﬂw

. Attempt any Five parts from the followings:-(5x2=10) -Q&iaymélzlégaﬂfc—u.‘!Jij.4

(i)

(ii)
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(vi)
(Vi)

(viii)

5.

e,

How is NAND gate made? Also write its symbol. ~UfoMWJJ’/)‘?‘LHgg‘/.4J NAND
What is the difference between primary memory and S Ol Sustl Skl §s2 8 Ay
secondary memory?

For storing data, is the floppy disk more better or the hard ?J;‘}Mc‘. j‘“.‘u&)&ﬁ@lﬁi&i,/;#lz}
disk?

Write two uses of cathode ray oscilloscope. _g/uy.gum,;é.,ﬁhuﬁﬂ/
How much a 1g sample of pure radioactive material w;,c;/‘ff 9 /‘{Jwédg/g_:‘.rl//g@wdﬂ)j A0
would be left after four half lives? ?‘f b

(i)
(iv)

(v)

(vi)

(Vi)

. _ .13
Find the number of protons and neutrons in the nuclide s/ 74 L Ule YW ibe  Xesk SO we L1 (viii)

13
defined by 6X .
_Q/?IL‘”JU;J?)/LJ:':
Part II (2 -2
Note: Attempt any Three questions. (7x3=21) -q&/:,glzz:auwf :..J:C..‘J

(a) Define simple pendulum. Also prove that its motion is _J,/:f,L*S.H.M/JfJJU;u/.@ /JH}%MV(J’) <5
S.HM. [4]

(b) A marine survey ship sends a sound wave straight to ~ »/Z1.5 s»l‘gL“fffjj&,cfbgﬁg;d/)‘:jwbgdi-vg(y) ‘
the sea bed. It receives an echo 1.5 s later. The speed of 1500ms™ " 4x § 431 U dg Lo ) LIS
sound in sea water is 1500ms™" -LJ,/?)"&/JJFM%J{J'-%
Find the depth of sea at that position. [ 3]

(a) Explain the formation of images by ray diagrams when q/yu;&‘&, ),f‘lc.u J/l/'il;‘c.Ju.‘.' JﬂJngg(Jl) -6
the object is placed at (i) beyond 2 F &L L iyl PIF (ii)me2 F (i)nlfléf()'.fa

(ii) between F and P . Also give the nature of image _uf/lzuﬁgdiogtgf(‘-fl
formed in each case. [4]

(b) A convex lens of a focal length 6:em'is to be used to J%/;MJLMLZJK?G cmé‘:"){}&ﬁﬂ‘fgﬂ;ﬂ(?)
form a virtual image three times the size of the object. ‘."egc@ugffﬂ_‘amé I
Where must the lens be placed?

[3]
(a) Define and describe Coulomb's law. [4] -Q’/&walbéfgfui&ﬁg)f(d!) ol
(b) By applying a potential difference of 10 Vacrossa = Ut /20Ut e 10 VRS P S Ao Li(0)
conductor a current of 1.5 A passes through it. How much ?Jnd”b(ﬁ}lf/uwaL&/Jl?ngz4&/1.5 A
energy would be obtained from the current in 2 minutes.
[3]

(a) Write symbols of AND operation and OR operation. J’";p’u‘é sl ﬂam Jﬁ{f OR sl gﬁ{" AND () -8

Also write their truth table. [4] ~uf/l'/.
(b) A step-up transformer has a turn ratio of 1:100. An Jifd/g/l-‘¢1:100;#'«,,(u;/§uﬁ/4w'l/‘_;l*?ug(g)
alternating supply of 20 V is connected across the primary ( Vg ) (‘:“J» d/ﬁ??L@L:};ZJVLwyA.C.LZO vy
coil. What is the secondary voltage ( Vs ) . ,q/‘»}v

[31]
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(a) Define fission reaction and explain fission chain _q/c)Lb;Jﬂld/%u%;lq/.gfd/ﬂldzuy(dl) -9

reaction. [4]

(b) Explain briefly the transmission of radiowaves -q/wu:/‘?d/ uﬁﬂl/‘uf.’ Uﬁd//‘z;g,,t,/(_,)
through space. [3]
Part ]| (Practical Part) (> -~
Attempt any two parts of Question 5x2=10 -Q)}fc«&'ﬁéﬂzl»cé;’::ﬁi
(a) (W) 10
(i) Draw the circuit diagram for finding the (l/:élﬁﬁ//éj.dié./(ﬂ”dl/?lﬂ.g/}goiiﬂf/‘f)l);f(i)
resistance of galvanometer by half deflection method. -U:/l'f.
(ii) In above mentioned experiment resistance taken <6=24.sl<_5000 Q ul/g?@&;H.R.Buﬁ, /; Ul gs! (i)
from H.R.B is 5000Q and deflection 6 =24, the e Qo u’a’ $isifl6esr§ 110 @ = LRBo2
resistance taken from L.R.B is 110Q2  to make -J_/r)”o?l/gf/‘{ilg
deflection half. Find the resistance of galvanometer.
[2+3]
(b) )
(i) Write down the procedure and formula to find /;I-Q/QZK@,}KL/?)"VJWIK&gqu{_Tﬂ(i)
refrection index of a liquid using a concave mirror. -uf{ffum
(i) How parallex is removed in the above -?ngl,ﬁ»&f.ﬁUl'iid);bﬁufa,f:.ug4;l(ii)
experiment. [2+1+2]

(c) In parallel combination of resistances shown in the (Pl&ﬂl;éuﬁ&(/-c‘.fwjizdﬂ? Kui»’lfui'gﬁ @)
figure. Find the current I flowing through the circuit, -Q/(’L"‘tf:b““f J&/L"J—/fGRzﬂ’Rﬂf,/
current through R1 and current through R, -

Q. 2.4 [1+2+2]

Ry=2.0,

.
N

.
T |
& volt
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